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QUESTION 1

Refer to the Exhibit.

#(config) interface vlan 1501

#(conf-if-vl-1501) interface ethernet 1/1/54
#(conf-if-eth1/1/54) description Discovery_Laptop
#(conf-if-eth1/1/54) switchport access vian 1501
#(conf-if-eth1/1/54) no shutdown

A Network administrator is failing to discover a PowerStore T system using the PowerStore Discovery Utility. What
might be the issue?

A. Discovery network uses only native VLAN

B. Port 54 needs to be enabled

C. Dedicated port needs to be used for discovery network
D. Port 54 has not been set to trunk mode

Correct Answer: C

QUESTION 2

While configuring a Dell switch with PowerStore, what are the recommended license outputs from a show license status
command?

A. Type: Term-Based, Status: Active

B. Status: Perpetual, Type: Open

C. Type: Perpetual, Status: Active

D. Status: Term-Based, Type: Unlimited
Correct Answer: C

Reference: https://www.dell.com/support/manuals/en-pk/powerstore/pwrstr-ntwk-cfg/validate-the-top-of-rack-tor-switch-
versions-and-licensing?guid=guid-40c30b91-7fb2-4a26-bac7-4ae67c07bdfbandlang=en-us

QUESTION 3
DRAG DROP

Match the CLI command to the appropriate configuration.
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Select and Place:

Answer Area

Configuration

Ensure the switch has precedence

Command

#(conf-vit-1) discovery-interface ethernet
1/1/55-1/1/56

Configure a switch as a VLT backup

Add VLTi ports to a VLTi domain

#(conf-range-eth1/1/55-1/1/56) no
switchport

# copy running-configuration startup-
configuration

Commit and save configuration

#(conf-vit-1) backup destination

172.17.57.30
Disable L2 Mode on a VLTi interface #(conf-vit-1) primary-priority 1
Correct Answer:
Answer Area
Configuration Command
Configure a switch as a VLT backup
Commit and save configuration
Ensure the switch has precedence
Disable L2 Mode on a VLTi interface
Add VLTi ports to a VLTi domain
QUESTION 4

A storage administrator has provisioned a 50GB volume and presented it to an application. The application owner has
requested that the volume be replicated to a secondary array. Which policy should be assigned to the volume to enable
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replication?

A. Protection
B. Performance
C. Remote

D. Replication

Correct Answer: D

QUESTION 5

What is the logical block size when creating and formatting volumes on PowerStore for Windows hosts?
A. 512 bytes

B. 520 bytes

C. 4096 bytes

D. 64 kilobytes

Correct Answer: A

Reference: https://www.dell.com/support/manuals/en-pk/powerstore/pwrstr-hcg/disk-
formatting?guid=guid-27740e37-8432-4241-a3d7-bf18843a94ceandlang=en-us

QUESTION 6

A storage administrator has provisioned 10 x 2GB volumes. 400MB of data is written to each of the ten volumes. What
is the Thin Savings ratio for this configuration?

A. 31
B.4:1
C.51
D.6:1

Correct Answer: D

QUESTION 7
Which API does PowerStore use to communicate with ESXi server during vVols provisioning operation?

A. REST
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B. SOAP

C. VAAI

D. VASA

Correct Answer: D

Reference: https://volumes.blog/2020/05/06/what-is-powerstore-part-4-vvols/

QUESTION 8

Refer to the Exhibit.
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Note the yellow arrow. A Data Center Engineer notices that the LED is blinking blue and amber alternating at one
second intervals. What does this indicate?

A. Node is Degraded

B. System is booting

C. Node in Service Mode
D. System not initialized
Correct Answer: C

Reference: https://www.dell.com/support/manuals/en-pk/powerstore/pwrstr-isg/embedded-module-leds?guid=guid-
bc07892c-75cf-43b6-8f17-8a4c49001aebandlang=en-us

QUESTION 9

A customer is new to PowerStore and asks if there are any differences between the A and B back-end ports. What is
the correct response?

A. All ports on the base enclosure are input ports
B. All ports on the base enclosure are output ports
C. "A" ports are input ports and "B" ports are output ports D. "A" ports are output ports and "B" ports are input ports

Correct Answer: C
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QUESTION 10

A PowerStore T administrator discovers that only one port on each node is active and passing traffic. The other port is
healthy and online, but total bandwidth is only half of what the customer expects. Which action could resolve the issue?

A. Configure VLT and Link Aggregation Control Protocol

B. Implement VLT and Dynamic Link Aggregation Group

C. Configure Link Aggregation Control Protocol and Dynamic Link Aggregation Group
D. Implement Dynamic Link Aggregation Group

Correct Answer: A

Reference: https://www.delltechnologies.com/resources/en-us/asset/white-papers/products/storage/h18157-dell-emc-
powerstore-clustering-high-availability.pdf
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